MODULE 2 – Turning
Unit 2 – Facing, Parallel & Turning
Questions
1. Why is important to set the turning tool to the centre height of the workpiece.
2. How is the correct tool height set?

3. What does HSS mean and list two other elements that are added to it.
4. Explain the following terms used for turning tools: Top Rake, Side, True Rake 
 
and Clearance Angles.
5. Calculate the spindle speed (RPM) when turning a 20mm mild steel bar. 
Answers

1.   
If the tool is set too high it has the effect of reducing the clearance angle at the 
 
front of the tool and increasing the rake angle. When it is set too low it has the 
 
opposite effect. This can result in a poor surface finish on the turned surface. 
2.  
The correct tool height can be set by aligning the cutting tip with the Tailstock
Centre.

3.  
HSS means high speed steel, which is made of steel, tungsten, chromium and 
 
vanadium.
4.  
Top Rake is the slope from the front tip of the tool towards the back. 

Side Rake is the slope from the side to side from the cutting edge. 

True Rake is a combination of Top and Side Rake.
Clearance Angle: The side and front of the tool is ground below the cutting edge 
 
to slope away from the workpiece. This provides clearance between the tool and 
 
the workpiece

5. 
To find the correct RPM (revs per minute) setting of the spindle the following 
 
formula should be used:
 
	RPM 
=    Cutting Speeds in metres per minute x 1000
                       Circumference of cutter in millimetres

             =     
      S x 1000



        л x D


Using a typical cutting speed of 30 meters/min for mild steel and 3.14 for л: 

	RPM 
=    30 x 1000
                     3.14 x 20

             =     477


